LA
X ZH -
=

chef:

NSt
Aol WSREUE St 2
g2=i9 Mg

S - B S9(H) - KIRAY - BES 0l & ol o HIDZ2

MS& 11,036,604 12,716,325 21,679,721

= 70,000 70,000 0

= 10,966,604 12,646,325 21,679,721

AelfF WSEUE S6 FHISE (MY - L)Y 2,391,524 3,218,389 A826,865
LR/ RPALEXRI)

2= Mgy 23 415,024 441,210 N26,186

=ANYERA SR wW2F 33,490 57,940 N24,450

201 B2 13,050 20,700 AT,650

01 At22teldl 13,050 20,700 AT,650

OA=NLHLF e+ S22 2A BB S 13,050 20,700 AT,650

310 =2/01& 16,800 33,600 216,800

02 =MFE= 16,800 33,600 216,800

A=XNYER g SR dEH X 16,800 33,600 216,800

=MOIF 25 ¥ B2 2435 14,264 16,000 A1,736

310 =2/01& 14,264 16,000 A1,736

02 =MRE= 14,264 16,000 A1,736

O=MII7 Sl 14,264 16,000 A1,736

T0I=X9 BHgd 23 819,736 1,599,384 AT79,648

T0I=2 S& 243t I 0 228,520 2228,520

308 AXIHM SO0l 0 228,520 2228,520

11 S| 2SI etE & & A AL 0 228,520 2228,520

OcHel =00 =& HAH J1g & 0 228,520 2228,520

Ol=2% =24 262,232 763,360 A501,128

308 XIXIEMSO0IE 262,232 763,360 A501,128

11 S 2SO eHE & & A AL 262,232 763,360 A501,128

ofl==8 22 262,232 763,360 A501,128

dAlotER 2 257,504 307,504 250,000

308 AtXIEFMISOIE 257,504 307,504 250,000

11 SO 2 SOICHEHE & & 2 EF AL 257,504 307,504 250,000

O=SAIOF 22 EH 29 0 50,000 250,000

SHuSEH 25t 586,439 607,470 21,031

SHEAZSdEH ZA2E 2l 87,498 89,290 A1,792

401 AlZHIL 201 24,008 25,800 21,792

01 Al<£H] 24,008 25,800 A1,792

OXXTOE &X, &2 M il S 24,008 25,800 A1,792

HES DlciE sZEHE 25 H 76,200 80,000 23,800

201 EeH2ZH| 37,160 38,000 2840

01 At2:2te|H] 7,900 8,000 2100

ot 2823 78 ¥ MA 7,900 8,000 2100

03 At=ZEHI 29,260 30,000 AT40

OZAt=E & W M 29,260 30,000 AT40

301 LENZ 39,040 42,000 22,960
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=N

—HSatu

HM: 229 22 YEYT JY PE(AY - B4 LR/ RALEXR )

el uSe 243t che &)

S - B - SR(3) - NRAY - BES 0l & ol @ o HIDS2
||| om=zzxn o= yeea 23 8,900 23,200 £14,300
22 SAIE AS% UG (SHALM/ S - S 2,945,928 3,502,300 556,372
= 70,000 70,000 0
= 2,875,928 3,432,300 556,372
NS Y CENE 2,945,928 3,502,300 556,372
= 70,000 70,000 0
[ 2,875,928 3,432,300 556,372
HBZS Lzoler As) 224,500 374,500 £150,000
307 QI2H0| & 220,000 370,000 £150,000
02 RIZIZAAIA BT 220,000 370,000 £150,000
OSHAFBHZ CIXIY DHE 0 150,000 £150,000
R EEEE! 303,628 800,000 27406372
307 DI2H0|H 303,628 800,000 £406,372
02 DIZIAAAIRA B 303,628 800,000 £406,372
OSS4+EXHHTE 150,000 200,000 250,000
OBHLIAIR WEXI 243,628 250,000 26,372
OUISENIE sS4 ool 22 0 50,000 A50,000
O=2MIIT HAXL == X 0 300,000 300,000
NS A (M S (DIEHIIEH 249,252 269,536 £20,284
ol 2| 148,126 168,410 220,284
IHCASBLE MR 222 2F 104,211 124,495 220,284
101 Q12A4H| 104,211 124,495 220,284
03 LR (PIH ) 2ENE S 104,211 124,495 £.20,284
oJl=z 75.380 83,528 18,148
Ous= 28,675 14,680 13,99
o8s= 12,998 14,506 A 1,508
o752 12,737 28,641 £15,904
O3s= 11,582 12,981 £1,399
Oes= 9,388 12,720 13,332
oXzLY 3,980 6,214 272,234
ous= 2,390 1,204 1,166
o8z 759 1,209 2450
o752 637 2,387 21,750
035 194 758 564
Oes= 0 636 27636
osRIEINLY 2,367 3,724 1,357
Ous= 1,082 1,313 A3
o785 752 1,282 2530
0235 333 1,129 AT%
oARIeIRRLY 2,411 5,817 £3,406
osgaRsy 2,192 5,817 23,625
OYESIHH| 6,601 8,35 1,754
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FAM: SMSAR

M AHH2AZHI(SHSLL)(OIEH/DIE)

&l Q12|

S - BE . SRI(SIH) - NISA - BES 0l o ol & o

Otz = 2,868 1,468
o8s=s 1,300 1,451
ors= 1,274 2,865
O3s= 1,159 1,29
@ri=t= 0 1,272
oiE< 2,640 2,400
O MXHA 360 240
O=MXtA 840 720
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